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POWER SYSTEM-II
Fruifta wrg . A e (sftrman 3w - 70
Time allowed : Three Hours) [Maximum Marks : 70
M. (i) ey avT Ay & vhw 3 7 et ofe & 3ev iR

Note :

(1)

(m)

(iv)

(v)

2. (1)

(11)

Question No. 1 is compulsory, answer any five questions from the remaining.
(ii) FR% v & I 9rTl F HEET 0% qe g ST 1

Solve all parts of a question consecutively together.
(iii) 7% T97 F 93 TF & qR] FHAT |

Start each question on a fresh page.
(iv) o1t wrss § srav g5 & fefr § smat srqame 8t = &

Only English version is valid in case of difference in both the languages.

T feeen % vEw st w9y o anemnd |
Explain basic flow diagram of power system in brief.

TAF AT H WA Ffd |

Define string efficiency.

forirdt vy & et Framar | o wn wmd 0

What do you mean by voltage regulation of Transmission line ?
AR & WM 9 S A H aniin sifed |

Classify underground cable according to voltage level.

figfior o & s fefad |

Write the application of stringing chart. 2x5§
Prezemr sromett & @ e & 2 gowEd

Explain the advantages of D.C. system. 6

o U2 an woielt 3 frevm 3R ol F i % st ®oqee wie
Forad 2. wonet | wea Ty waten far T & 1 g T O wem O s wE
g o

Compare volume of copper in D.C. 2-wire and D-C 3-wire system. Assume Mid

point earth in 2-wire D.C. system and same power is transmitted over same
length. 6
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3. (i) ﬁlﬁuﬁmﬁmmﬁmm%fa@mmmﬁ&wmﬁmmm
| T9F AN FHfAR |

Describe pin type of insulator used in overhead lines. Compare it with

suspension type insulator. 6
(ii) Wm#%ﬁawmmwﬁmmmm | 21 At &

™ AZAl 33 kV ¥ | TEE ST F T a9 99w F3 e e o F ma @ v

F 39 A=y

C:KC=1:0.11

Determine the voltage across each unit of a string of suspension insulator of

3 sinular unit. The voltage between two phases 1s 33 kV and ratio of

the capacitance of each unit and capacitance between pin to earth is

C:KC=1:0.11. 6
4. () Yfma w9 & o 5w fE&fE
Write down the advantages and disadvantages of underground cable. 6
(i) v faavo gone § ieam va fin faeor q =R T FA |
Differentiate between radial and ring distribution system in distributor line. 6

5. (i) TF132kV R @nw E w aEs # oS v sy o
A 132 kV transmission line has following data :
(a) 9o H UF = 680 kg/km
Weight of conductor = 680 kg/km
(b) ¥ F FEE =260 m
Length of span = 260 m
(c) 9T NTF UF = 3100 kg
Ultimate strength = 3100 kg
Safety factor =2
EF W a0 ¥ Fad 10 m i )
Calculate the height above ground at which the conductor should be supported.

Ground clearance required is 10 metres. 6
(i) A C. Tl gt 7 mnfas warg # sowmd |
Explain the skin effect in A.C. Transmission line. 6

6. P areem PRt @R % fere frafefaa w1 ave i
Describe the following for L.T. overhead distribution line :
(i) =T * JEeA '
Stringing of conductor
(i) = T T 2w
Guys and stay
(i) T&A0T
Gaurding
(iv) ¥
Grounding Ix4
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(3)
(i) wfoma Fam t fagm #1 a5 a0 =15
Describe the method of laying underground cables.
(i) v fae @ oifme oum =0 | aiftg faars 3 amea om $1 @9F vE F#1T

Drive an expression for the voltage drop tor a uniformly loaded distributor.

e =/ =t 31 97 Tiwre femforat forfras -
Write short note on any two of the following :
(i) TP FE e F A
Transposition of overhead line conductor
(i) o2 v
Ferranti effect
(iii) FaAT F FY d93
Grading of cable
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